
0 0100000000000101  
1  0001000000000100
2 0101000000000101
3  1111000000000000
4  0000000000001010

1111    STP         Stop the computer
0001    ADD         Add accum. to operand
0010    SUB         Subtract operand from accum.
0011    LOD         Load memory cell into accum.
0100    LDI         Load immediate into accum.
0101    STO         Store accum. into memory cell
0110    INP         Input value and store into accum.
0111    OUT         Output the value from accum.
1000    JMP         Jump to instruction
1001    JNG         Jump to instruction if accum<0
1010    JZR         Jump to instruction if accum=0

What does it do?



SSC Programs

0 0100000000000101  
LDI 5 load the number 5

1 0001000000000100
ADD 4 add contents of memory location 4

2 0101000000000101
STO 5 store result in memory location 5

3 1111000000000000
STOP

4 0000000000001010
<data> number to add

5 <data> place to put result



SSC Programs

LDI 5 load the number 5

ADD 4 add contents of memory location 4

STO 5 store result in memory location 5

STOP

4 <data> number to add

5 <data> place to put result



SSC Programs

LDI 5 load the number 5

ADD X add contents of memory location 4

STO Y store result in memory location 5

STOP

X <data> number to add

Y <data> place to put result



Assembly Language

• Mnemonic codes represent machine 
language instructions
– Write these alphanumeric codes instead of 

binary (Yea!)

0 0100000000000101  
1  0001000000000100
2 0101000000000101
3  1111000000000000
4  0000000000001010
5  0000000000000000

LDI 5 
ADD X
STO Y
STP

X DAT 10
Y DAT 0

Assemble



Assembly Language

• Mnemonic codes represent machine 
language instructions
– Decode binary into codes

0 0100000000000101  
1  0001000000000100
2 0101000000000101
3  1111000000000000
4  0000000000001010
5  0000000000000000

0 LDI 5 
1  ADD 4
2 STO 5
3  STP
4 DAT 10
5 DAT 0

Disassemble



Assembly Language

• Mnemonic codes represent machine 
language instructions
– Decode binary into codes
– Humanize

0 0100000000000101  
1  0001000000000100
2 0101000000000101
3  1111000000000000
4  0000000000001010
5  0000000000000000

LDI 5 
ADD X
STO Y
STP

X DAT 10
Y DAT 0

Disassemble



Assembly Language

• Mnemonic codes represent machine 
language instructions
– Decode binary into codes
– Humanize

0 0100000000000101  
1  0001000000000100
2 0101000000000101
3  1111000000000000
4  0000000000001010
5  0000000000000000

LDI 5 
ADD X
STO Y
OUT
STP

X DAT 10
Y DAT 0

Assemble



Assembly Language

• Mnemonic codes represent machine 
language instructions
– Decode binary into codes
– Humanize

0 0100000000000101  
1  0001000000000101
2 0101000000000110
3 0111000000000000
4  1111000000000000
5  0000000000001010
6  0000000000000000

LDI 5 
ADD X
STO Y
OUT
STP

X DAT 10
Y DAT 0

Assemble



Assembly Process

LOAD Program into memory

EXECUTE
Set Program Counter to 0 and Fetch



SSC Programs

0 INP get a number from the input field

1 OUT write the acc. to the output field

2 STOP stop



SSC Assembly Language...



Counting Loop

0  LDI 6 put "6" into accumlator

1  JNG 4 if acc < 0, jump to step 4

2  SUB 5 subtract value in location 5

3  JMP 1 jump to step 1

4  STP stop

5  DAT 1 data, value is 1

Accumulator:  



Load 6 into ACC

ACC

< 0?

Subtract 1 from ACC

Stop

N

Y




